virtufit

Power Sled

VF02129




virtufit

SEZNAM DIiLU

o (1x) Ramova konstrukce

e (2x) Madla G (84 M10*60 0 (1) M12*25 O(h) M12 Podlozka

0 @ (&)

Q(lex) M10 Podlozka @ (8x) M10 Matice m(lx) Gumovy krouzek @ (2x) Kryt

©50-370-10 @35




virtufit

ZOZNAM DIELOV

o (1x) Ramova konstrukcia

e (2x) Rukoviite G (8x) M10*60 0 (1) M12*25 0(1x) M12 Podlozka

0 @ (&)

Q(lex) M10 Podlozka @ (8x) M10 Matice m(lx) Gumovy krizok @ (2x) Kryt

©50-370-10 @35




virtufit

\'4

S
=
=
S
S
v
T
[
=
S

KROK 02




virtufit

KROK 03

S

KROK 04




T TRINTEGO

Trinteco spol. s r.o.
Na Strzi 2102/61a, 140 00 Praha 4 — Kr¢
5 Ceska republika
IC: 052 54 175 DIC:CZ05254175

Email: info@trinteco.cz
Telefon: +420 725 552 257





